M@@ﬁ@%@;ﬁ

Rerdweare™

oA \

!

THREAD "E"

DIMENSION ON SHEET 2, 3 TABLE

Material: Steel

Finish: Zinc
Fasteners: Nut Hex
1 DO NOT SCALE 2160 See Table
Revision Dimensions are nominal Family Name SKU
and subject to change.
AUG 2020 ’ ’ BOLT, EYE, 2160
©2017 Spectrum Brands, Inc. .
Date Description




M@@ﬁ@%@;ﬁ

[Herawere™
DIMENSIONS INCH [MM]
CATALOG # | STOCK#(SKU) |  PRODUCT DESCRIPTION SIZE ¢A s c > - PACKAGE STYLE | QPP | QPB
2160BC N221-317 2160BC 1/2X6 EYE BLT ZN 172X6 [2;_ 4 [1’1‘_?] . 53.5] [3{?1 1/2-13UNC2A | BAGGED LOOSEBC | 1 10
MP2160BC N221-523 | MP2160B 1/2X6 EYE BLT ZN 172X6 [2;_ 4 [1’1‘_?] . 53.5] [3{?1 1/2-13UNC2A | BOXED LOOSE BC 1 15
2160BC N100-381 | 2160BC 1/2X6INEVEBLTZN | 1/2X6 [2;_ 4 [1’1‘_?] . 53.5] [3{?1 1/2-13UNC2A | BOXED LOOSE BC 1 15
2160BC N221-085 | 2160BC 1/4X2 EYE BOLT ZN 14X 2 [%‘_g] [75’342] [55_8] [272’_51] 1/4-20UNC2A | BAGGEDLOOSEBC | 1 | 20
MP2160BC N221-374 | MP2160B 1/4X2 EYE BLT ZN 14X 2 [%‘_g] [75’342] [55_8] [272’_51] 1/4-20UNC2A | BOXED LOOSE BC 1 | 80
2160BC N221-101 2160BC 1/4X2-1/2 EYEBLT | 1/4X 2112 [%‘_g] [75’342] [%3”_,?] [‘3'1‘_’31 1/2-13UNC2A | BAGGEDLOOSEBC | 1 | 20
MP2160BC N221-382 MP2160B 1/4X2-1/2 EYE 14X 21/2 [%‘_g] [75’342] [%3”_,?] [‘3'1‘_’31 1/2-13UNC2A | BOXED LOOSE BC 1 | 80
2160BC N100-387 | 2160BC 1/4X2-1/2 EYEBLT ZN | 1/4 X 2-1/2 [%‘_g] [75’342] [%3”_,?] [‘3'1‘_’31 1/2-13UNC2A | BOXED LOOSE BC 1 | 20
2160BC N221-119 | 2160BC 1/4X3 EYE BOLT ZN 14X 3 [%‘_g] [75’342] [763_2] [1"2_’_,‘,‘] 1/4-20UNC2A | BAGGEDLOOSEBC | 1 | 20
MP2160BC N221-390 | MP2160B 1/4X3 EYE BLT ZN 14X 3 [%‘_g] [75’342] [763_2] [1"2_’_,‘,‘] 1/4-20UNC2A | BOXED LOOSE BC 1 | 80
2160BC N221-127 | 2160BC 1/4X4 EYE BOLT ZN 14X 4 [%‘_g] [75’342] . o P [%'93_’;] 1/4-20UNC2A | BAGGEDLOOSEBC | 1 | 20
MP2160BC N221-408 | MP2160B 1/4X4 EYE BLT ZN 14X 4 [%‘_g] [75’342] . o P [%'93_’;] 1/4-20UNC2A | BOXED LOOSE BC 1 | 80
2160BC N221-135 | 2160BC 1/4X5 EYE BOLT ZN 14X 5 [%‘_g] [75’342] . 2-’;.0] [763_2] 1/4-20UNC2A | BAGGED LOOSEBC | 1 | 20
2160BC N100-388 2160BC 1/4X5 EYE BLT ZN 14X 5 [%‘_g] [75’342] . 2-’;.0] [763_2] 1/4-20UNC2A | BOXED LOOSE BC 1 | 20
2160BC N221-143 | 2160BC 1/4X6 EYE BOLT ZN 1/4X6 [%‘_g] [75’342] . N 4 [763_2] 1/4-20UNC2A | BAGGEDLOOSEBC | 1 | 20
MP2160BC N221-424 | MP2160B 1/4X6 EYE BLT ZN 1/4X6 [%‘_g] [75’342] . N 4 [763_2] 1/4-20UNC2A | BOXED LOOSE BC 1 | 80
2160BC N100-389 2160BC 1/4X6 EYE BLT ZN 1/4X6 [%‘_g] [75’342] . N 4 [763_2] 1/4-20UNC2A | BOXED LOOSE BC 1 | 20
2160BC N221-051 2160BC 3/16X1-1/2EVE | 3116 X 1-1/2 ?7’312] 5[’3]2 [‘3';_’12] [139’f‘1] #10-24UNC2A | BAGGEDLOOSEBC | 1 | 20
2160BC N221-069 | 2160BC3/16X2EYEBLTZN | 3/16X2 [gﬁ] ?‘4-302] [55_8] [‘3'1‘_’31 #10-24UNC2A | BAGGEDLOOSEBC | 1 | 20
MP2160BC N221-200 | MP2160B 3/16X2 EYEBOLTZ | 3/16X2 [gﬁ] ?‘4-302] [55_8] [‘3'1‘_’31 #10-24UNC2A | BOXED LOOSE BC 1 | 80
2160BC N221-077 2160BC 3/16X2-1/2 EE | 3116 X 2-1/2 [1‘2’_27] ?‘4-302] [%3”_,?] [‘3'1‘_’31 #10-24UNC2A | BAGGEDLOOSEBC | 1 | 20
MP2160BC N221-366 MP2160B 3/16X2-1/2 EYE | 3/16 X 2-1/2 [1‘2’_27] ?‘4-302] [%3”_,?] [‘3'1‘_’31 #10-24UNC2A | BOXED LOOSE BC 1 | 80
2160BC N221-150 2160BC 5/16X2-1/2 EE | 5116 X 2-1/2 [139’f‘1] ?6/.382] [%3”_,?] [2;_ 4 | SN61BUNC2A | BAGGEDLOOSEBC | 1 10
2160BC N221-218 2160BC 5/16X3-1/4 EYE | 5116 X 3-1/4 [139’f‘1] ?6/.382] [%'2‘_’,‘5‘] [1"2_’_,‘,‘] 5/16-18 UNC 2A | BAGGED LOOSEBC | 1 10
MP2160BC N221-432 MP2160B 5/16X3-1/4 EYE | 5/16 X 3-1/4 [139’f‘1] ?6/.382] [%'2‘_’,‘5‘] [1"2_’_,‘,‘] 5/16-18 UNC2A | BOXED LOOSE BC 1 | 40
2160BC N221-226 | 2160BC 5/16X4 EYE BLTZN 5/16 X 4 [139’f‘1] ?6/.382] . o P [257”;] 5/16-18 UNC 2A | BAGGED LOOSEBC | 1 10
MP2160BC N221-440 MP2160B 5/16X4 EYE BLT 5/16 X 4 [139’f‘1] ?6/.382] . o P [257”;] 5/16-18 UNC2A | BOXED LOOSE BC 1 | 40
2160BC N100-391 | 2160BCS/T6X4EYEBLTZN | 516X4 [139’f‘1] ?6/.382] . o P [257”;] 5/16-18 UNC2A | BOXED LOOSE BC 1 | 40
2160BC N221-234 | 2160BC 5/16X5 EYE BLTZN 516X 5 [139’f‘1] ?6/.382] . 2-’;.0] [763_2] 5/16-18 UNC 2A | BAGGED LOOSEBC | 1 10
MP2160BC N221-457 MP2160B 5/16X5 EYE BLT 516X 5 [139’f‘1] ?6/.382] . 2-’;.0] [763_2] 5/16-18 UNC2A | BOXED LOOSE BC 1 30
2160BC N221-242 | 2160BC 5/16X6 EYE BLTZN 5116 X 6 [139’f‘1] ?6/.382] . N 4 [763_2] 5/16-18 UNC 2A | BAGGED LOOSEBC | 1 10
MP2160BC N221-465 MP2160B 5/16X6 EYE BLT 5116 X 6 [139’f‘1] ?6/.382] . N 4 [763_2] 5/16-18 UNC2A | BOXED LOOSE BC 1 30
1 DO NOT SCALE 2160 SEE TABLE
Revision Dimensions are nominal Family Name SKu

Date

AUG 2020

and subject to change.

©2017 Spectrum Brands, Inc.

Description

BOLT, EYE, 2160




M@@ﬁ@%@;ﬁ

[Rerdwere™
DIMENSIONS INCH [MM]
CATALOG # | STOCK # (SKU) PRODUCT DESCRIPTION size PACKAGE STYLE QPP QPB
BA o] ] C D E
21608C N221-259 2160BC 3/8X3 EVE BLT ZN 38X3 [25‘_ » [5413? [763_2] [25‘_ g | 3BIBUNC2A BAGGED LOOSE BC 1 10
21608C N100-300 2160BC 3/8X3 EVE BLT ZN 38X3 [25‘_ » [5413? [763_2] [25‘_ g | 3BIBUNC2A BOXED LOOSE BC 1 10
21608C N221-267 2160BC 3/8X4 EVE BLT ZN 38X 4 [25‘_ » [5413? o o P [55_81 3/8-16 UNC 2A BAGGED LOOSE BC 1 10
MP2160BC N221-473 MP2160B 3/8X4 EYE BLT ZN 38X 4 [25‘_ » [5413? o o P [55_81 3/8-16 UNC 2A BOXED LOOSE BC 1 30
21608C N347-252 2160 3/8X4 EYE BOLT ZN 38X 4 [25‘_ » [5413? o o P [55_81 3/8-16 UNC 2A BOXED LOOSE BC 10 1
21608C N221-275 2160BC 3/8X5 EVE BLT ZN 38X5 [25‘_ » [5413? o 2-’;_0] [763_2] 3/8-16 UNC 2A BAGGED LOOSE BC 1 10
MP2160BC N221-481 MP2160B 3/8X5 EYE BLT ZN 38X5 [25‘_ » [5413? o 2-’;_0] [763_2] 3/8-16 UNC 2A BOXED LOOSE BC 1 30
21608C N347-260 2160 3/8X5 EYE BOLT ZN 38X5 [25‘_ » [5413? o 2-’;_0] [763_2] 3/8-16 UNC 2A BOXED LOOSE BC 10 1
21608C N100-392 2160BC 3/8X5 EVE BLT ZN 38X5 [25‘_ » [5413? o 2-’;_0] [763_2] 3/8-16 UNC 2A BOXED LOOSE BC 1 30
21608C N221-283 2160BC 3/8X6 EVE BLT ZN 38X6 [25‘_ » [5413? o S , [763_2] 3/8-16 UNC 2A BAGGED LOOSE BC 1 10
21608C N347-278 2160 3/8X6 EYE BOLT ZN 38X6 [25‘_ » [5413? o S , [763_2] 3/8-16 UNC 2A BOXED LOOSE BC 10 1
DP2160BC N221-499 DP2160B 3/8X6 EYE BLT ZN 38X6 [25‘_ » [5413? o S , [763_2] 3/816 UNC2A | DISPLAY-PAC LOOSE BC 1 25
MP2160BC N221-201 2160BC 3/8X8 EVE BLT ZN 38X8 [25‘_ » [5413? [2083_2] [763_2] 3/8-16 UNC 2A BOXED LOOSE BC 1 10
DP2160BC N221-507 DP2160B 3/8X8 EYE BLT ZN 38X8 [25‘_ » [5413? [2083_2] [763_2] 3/816 UNC2A | DISPLAY-PAC LOOSE BC 1 25
21608C N221-309 2160BC 1/2X4 EYE BLT ZN 112X 4 [25‘_ » [?’11_% o o P [‘Aj_’.;‘] 1/2-13 UNC 2A BAGGED LOOSE BC 1 10
MP2160BC N221-515 MP2160B 1/2X4 EYE BLT ZN 112X 4 [25‘_ » [?’11_% o o P [‘Aj_’.;‘] 1/2-13 UNC 2A BOXED LOOSE BC 1 15
MP2160BC N221-325 2160BC 1/2X8 EVE BLT ZN 112X8 [25‘_ » [?’11_% [2083_2] [?3'53_’;‘] 1/2-13 UNC 2A BOXED LOOSE BC 1 10
DP2160BC N221-531 DP2160B 1/2X8 EYE BLT ZN 112X8 [25‘_ » [?’11_% [2083_2] [?3'53_’;‘] 1213UNC2A | DISPLAY-PAC LOOSE BC 1 15
21608C N100-383 2160BC 1/2XBIN EYEBLTZN | 1/2X 8 [25‘_ » [?’11_% [2083_2] [?3'53_’;‘] 1/2-13 UNC 2A BOXED LOOSE BC 1 15
MP2160BC N221-333 2160BC 1/2X10 EYE BLTZN 12X10 [25‘_ » [?’11_% [2;20] [?3'53_’;‘] 1/2-13 UNC 2A BOXED LOOSE BC 1 10
DP2160BC N221-549 DP2160B 1/2X10 EYEBLTZN | 112X 10 [25‘_ » [?’11_% [2;20] [?3'53_’;‘] 1213UNC2A | DISPLAY-PAC LOOSE BC 1 15
MP2160BC N221-341 2160BC 1/2X12 EYE BLTZN 1U2X12 [25‘_ » [?’11_% [33 Z.s] [?3'53_’;‘] 1/2-13 UNC 2A BOXED LOOSE BC 1 10
21608C N100-384 2160BC 1/2X12 EYEBLTZN | 12X 12 [25‘_ » [?’11_% [33 Z.s] [?3'53_’;‘] 1/2-13 UNC 2A BOXED LOOSE BC 1 10
21608C N347-666 2160BC 5/8X6EYE BOLTZN 518X 6 [‘3'1‘_’g] [?Q-g] o S , [?3‘2‘_’(‘,‘] 5/8-11 UNC 2A BAGGED LOOSE BC 1 3
21608C N347-674 2160BC 5/8XBEYE BOLTZN 5/8X8 [‘3'1‘_’g] [?Q-g] [2083_2] [?3'53_’;‘] 5/8-11 UNC 2A BAGGED LOOSE BC 1 3
21608C N347-716 2160BC 3/4X6EYE BOLTZN 314 X6 [‘3; ’12] [‘1‘7’_‘25] o S , [26'93_’3] 3/4-10 UNC2A BAGGED LOOSE BC 1 3
21608C N347-724 2160BC 3/4X8EYE BOLTZN 314X8 [‘3'3_’12] [‘1‘7’_‘25] [2083_2] [?3'53_’;‘] 3/4-10 UNC2A BAGGED LOOSE BC 1 3
21608C N347-682 2160BC 5/8X10 EYEBOLTZN | 5/8X 10 [‘3'1‘_’g] [?Q-g] [2;20] [?3'53_’;‘] 5/8-11 UNC 2A BULK BC 1 1
21608C N347-690 2160BC 5/8X12 EYEBOLTZN | 5/8X 12 [‘3'1‘_’g] [?Q-g] [33 Z.s] [?3'53_’;‘] 5/8-11 UNC 2A BULK BC 1 1
21608C N347-708 2160BC 5/8X14 EYEBOLTZN | 5/8X 14 [‘3'1‘_’g] [?Q-g] [3;54_ 6 [?3'53_’;‘] 5/8-11 UNC 2A BULK BC 1 1
21608C N347-732 2160BC 3/4X10 EYEBOLTZN | 3/4X10 [‘3'3_’12] [‘1‘7’_‘25] [2;20] [?3'53_’;‘] 3/4-10 UNC2A BULK BC 1 1
21608C N347-740 2160BC 3/4X12 EYEBOLTZN | 3/4X12 [‘3'3_’12] [‘1‘7’_‘25] [33 Z.s] [?3'53_’;‘] 3/4-10 UNC2A BULK BC 1 1
21608C N347-757 2160BC 3/4X14 EYEBOLTZN | 3/4X 14 [‘3'3_’12] [‘1‘7’_‘25] [3;54_ 6 [?3'53_’;‘] 3/4-10 UNC2A BULK BC 1 1
21608C N347-765 2160BC 1X8EYE BOLTZN 1X8 [55_81 [2293’3.|2] [2083_2] [?3'53_’;‘] 1-8 UNC 2A BULK BC 1 1
21608C N347-773 2160BC 1X10 EYE BOLTZN 1X10 [55_81 [2293’3.|2] [2;20] [?3'53_’;‘] 1-8 UNC 2A BULK BC 1 1
21608C N347-781 2160BC 1X12 EYE BOLTZN 1X12 [55_81 [2293’3.|2] [33 Z.s] [?3'53_’;‘] 1-8 UNC 2A BULK BC 1 1
21608C N347-799 2160BC 1X14 EYE BOLTZN 1X14 [55_81 [2293’3.|2] [3;54_ 6 [?3'53_’;‘] 1-8 UNC 2A BULK BC 1 1
1 DO NOT SCALE 2160 See Table
Revision Dimensions are nominal Family Name SKu

AUG 2020

Date

and subject to change.

©2017 Spectrum Brands, Inc.

Description

BOLT, EYE, 2160




	Sheet 1
	Views
	VIEW_TEMPLATE_2
	new_view_5


	Sheet 2
	Sheet 3

